€89 B FDE A=RB-F—TUHBEY B=X-TOv/HEEHK

= iv2 K4 BEHRAUE | REBRAF | RRAR | R—FR
1 rXE EX 167.00 95.00 72.00
2 MW FiEH 147.20 93.50 53.70
3 g EE 76.25 57.50 18.75
4 |FERX BF 64.00 50.00 14.00
5 BE EE 58.40 20.00 38.40
6 KeA FHER 52.90 37.50 15.40
7 AT [EE 48.00 30.00 18.00
8 |EE =R 42.60 32.00 10.60
9 [JEE HM 39.15 17.50 21.65
10 |[dY9+O9XF— Eml 38.40 38.40
1 |IF/K BB 35.50 15.00 20.50
12 |lUA KB 24.00 24.00
13 |/iE EZN 21.25 9.00 12.25
14 |fEE —3F 17.56 13.50 4.06
15 |[BiR {E—EB 17.15 8.00 9.15
16 |[FBEAK #UOK 16.60 10.00 6.60
17 | E4 15.76 7.00 8.76
18 [BR E 15.67 9.00 6.67
19 |=fm FI 13.95 8.00 5.95
20 |JE == 12.25 12.25
21 | K¥E #HIE 11.60 6.50 5.10
22 |EH BE 10.80 10.80
23 |MEBF BT 1050 1050
24 |pRAD 9.65 9.65
5 |12l &R 7.85 7.85
26 |+FRHEH AKX 7.10 7.10
27 |IEFEA KH# 6.66 6.66
28 |MIH Stth 6.30 6.30
29 |f&ER HE 561 5.61
30 |EEE FOER 4.70 4.70
31 |BBA =t 3.86 3.86
32 |hiE 4§ 3.60 3.60
33 |JIlO 1/ 3.35 3.35
3 |ABA EF 2.88 2.88
35 |Fr{E AKX 2.80 2.80
35 |dbEF &Hit 2.80 2.80
3B |FE BFE 2.80 2.80
38 |IRA K& 2.30 2.30
38 |dtiE KHE 2.30 2.30
0  |SH BE 2.00 2.00
41 |[IUBIEKER 175 175
42 |FK EZ 1.55 1.55
43 KB BEKX 1.25 1.25
44 |pH UEEE 1.10 1.10
45 | EAGRAH 1.00 1.00
46 |BTE #Ewe 0.94 0.94
471 |HE XHE 0.83 0.83
48 (ME KE 0.80 0.80
49 N 1%:E 0.78 0.78
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